EAGRAROBREERT — 2 N— ABISH —F

20205F9R9H (k) 9mAKFH3H

m9‘4 IYHILELE C1HEEX H5%—

‘ [Riz] ¥ ‘ [REBE] — | & (%) 12000 4=

[A~&£] 17 :1,200,000  ~ 23 :480,000 § 37 :300,000 § ~ 43 :180,000 @ 5 7 :120,000 M

WmEBR MK ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
R N . - _ IS
x7T)— o4 5;_%( & 1.(1_2).8 1-1 36.9 1| a49 E,Z*;b% (Kk3)
RO—I UL BiRTIAAEY- 2 1555577 -4
: . 4 | BEE 1:13.7 —4 7. = 1 FRA—R (KFH)
$I /54— ] R @ M PE =
ARG TTR YT IAY b= HFAYREy K
= N > BEEE : — — 1RBAKE (/\HE)
EO/S vy > 6| Bl 1.(124>.1 9-9 37.4 4 (5_110) E;}SE:
RBALINT Ry TR BiEALHTVER EAS
S s _= % 3 | BEE 1:14.3 5-5 38.0| — 3 438 | REK (KH)
ALFF4FI-F 53.0 (1 1/4) (5 | LB ZALTL
X7 T—=R VXTI T—h BTRAYT RN — BRESHH 74L 70—
o4 | AEEK 1:14.3 12-11 7.2 — 5 462 | MAEMR (K3)
51813 IJ0dbMA 56.”0 (74%) (+2) FEHIEAR
L:xrinaO— B:hYRU—Fvi RRMS
o EANIRIE 114, — . — SLTEMR (KF)
6 4 Ny E—T0O— 4 4 i 11\;)3 8-6 37.8 10 (4+1“2) ﬁmm%
L:xrinMO— B:FrE-I-X BF %8B
S x . it 3 | FEfEE 1:14.8 6-8 38.3| — 12 | 462 |/NEFZE (1)
77|12 ¥ r¥—F—> 53.0 @ 1/2) Oy | B Sratrrs-Frara
R:beHIO—Y— B:ZY /T4 KX ilf:zbles)
. s 4 3 | R 1:14.9 3-3 38.7| — 2 438 | MAEE (K3H)
EE 2| FuFx—2> 55.0 (3/4) ) |HB%E
R:YZRE—3IZXE— BiHyX-—2TH— YINIY LT T — L
.= o # o5 | REME 1:14.9 7-7 3.4 — 9 463 | FLEBLZ (KFH)
9|5|7|E¥7TH-YIF— 56.0 ) o) | ) EEEA-2557
LIART—LYF— BLYUYTLR e
5 SV o7 | FIHEEA 1:14.9 10-10  [38.0| — 1 441 | ERARE— (KH)
o011 | FFLL*>T 6.0 (76) Lo |BFEE
Ry —3IUFL BiYRE-—IL*X>Y EAHTT— L
SEN . BHHER : - - B (KH)
17l {F22TYLX # 5 %0 1.(145).8 13-13 [ 38.6 7 ;f; pane
R:Y=ZR8—-3I=4— B:T7I/TII> sk
. . R > INFRFRR : - — R (KFH)
1ol5lg | HrENU—1> 2 1| s (11.136/.41) 1-2 40.2 6 (4_629) Eﬁ%
L:rALh—L B:FI/STIR=- e
; t 3 | EwAdsE 1:16.2 11-12 39.2| — 8 444 | PEREZ (KH)
13)814| 77z 1)V 53.0 ) A P e
T/ —*2/) B:ILAAXT7I)— =Y Tr7—LA
> o5 | EEHEK 1:18.0 14-14 [ 40.4| — 14 | 468 |TRTEL (KFH)
1400 5| X —F AL 5%.0 © 4y | BOHA
XL THANAN B:545TR J—HrTr—LA
® 1 —F—@EBIERL
13—=7-—
2a=5=
Ja=9= (8,9),(2,10),3,12,7,4,6,1,14,13,11,5
43—+ — 9,8,2,10,3,4,7,12,6,1,13,14,11,5
[ N5
B 9 180M4 714K 9-10 2,810 e E 6-6 7,870M JEE 6-9-10 16,830
B B 9 120M 6-9 410M e B 6-6 7,980 3B 9-10-6 64,630
10 1,350 6-10 7,210 B & 9-10 6,620
6 250M B H 9-10 7,720M

ARICOVWTRDTEEERROODE. TR LI,




